

1/12/20

MAT 184

Ezembakwa Gueko

17/mthsol 1/12

MGBS

Find (a) eq of Tangent and (b) eq. of Normal

(a) $y = 2x^2$ at $(1, 2)$

$$\frac{dy}{dx} = 4x = 4(1) = 4 = m \quad \text{at } x=1$$

$$m = \left. \frac{dy}{dx} \right|_{x=1} = 4$$

(a) Tangent \therefore

$$\begin{aligned} y - y_1 &= m(x - x_1) \\ y - 2 &= 4(x - 1) \\ y - 2 &= 4x - 4 \\ \underline{y} &= \underline{4x - 2} \end{aligned}$$

(b) Normal \therefore

$$\begin{aligned} (y - y_1) &= \frac{-1}{m} (x - x_1) \\ y - 2 &= -\frac{1}{4} (x - 1) \\ 4(y - 2) &= -x + 1 \\ 4y - 8 &= -x + 1 \\ \underline{\underline{4y}} &= \underline{\underline{9 - x}} \end{aligned}$$

(c) $y = 3x^2 - 2x$ at $(2, 8)$

$$\frac{dy}{dx} = 6x - 2$$

$$m = \left. \frac{dy}{dx} \right|_{x=2} = 6(2) - 2 = 12 - 2 = 10$$

(a) tangent $\pm y - y_1 = m(x - x_1)$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y = 10x - 12$$

tangent $\rightarrow \underline{y = 10x - 12}$

(b) normal: $y - y_1 = -\frac{1}{m}(x - x_1)$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$10(y - 8) = -1(x - 2)$$

$$10y - 80 = -x + 2$$

Normal $\rightarrow \underline{10y = 82 - x}$

(3) $y = \frac{x^{3-4}}{2-4}$ at point $(-1, -\frac{1}{2})$

$$\frac{dy}{dx} = \frac{v \frac{du}{dx} - u \frac{dv}{dx}}{v^2} = \frac{(3x^2 + 2) - (x^{3+2})}{4}$$

$$\frac{dy}{dx} = \frac{6x^2}{4} = \underline{\underline{\frac{3x^2}{2}}}$$

$$m = \left. \frac{dy}{dx} \right|_{x=-1} = \frac{3(-1)^2}{2} = \underline{\underline{\frac{3}{2}}}$$

② Tangent $\therefore y - y_1 = m(x - x_1)$

$$\left(y - \left(-\frac{1}{2}\right)\right) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$2x \left(\frac{2y+1}{2}\right) = 3x+3$$

$$2y + 1 = 3x + 3$$

$$\underline{2y = 3x + 2}$$

③ Normal $\therefore y - y_1 = \frac{-1}{m}(x - x_1)$

$$\left(y - \left(-\frac{1}{2}\right)\right) = -\frac{2}{3}(x - (-1))$$

$$\left(\frac{2y+1}{2}\right) = -\frac{2}{3}(x+1)$$

$$3 \left(\frac{2y+1}{2}\right) = -\frac{2x-2}{3} \times 6$$

$$6y + 3 = -4x - 4$$

$$\underline{\underline{6y = -4x - 7}}$$

④ $y = 1 + x - x^2$ at point $(-2, -5)$

$$\frac{dy}{dx} = 1 - 2x$$

$$m = \left. \frac{dy}{dx} \right|_{x=-2} = (1 - 2(-2)) = 1 + 4 = \underline{\underline{5}}$$

$$\begin{aligned} \textcircled{1} \text{ Tangent: } & y - y_1 = m(x - x_1) \\ & y - (-5) = 5(x - (-2)) \\ & y + 5 = 5(x + 2) \\ & y + 5 = 5x + 10 \\ & \underline{y = 5x + 5} \end{aligned}$$

$$\begin{aligned} \textcircled{2} \text{ Normal: } & y - y_1 = \frac{-1}{m}(x - x_1) \\ & (y + 5) = \frac{-1}{5}(x + 2) \\ & 5y + 25 = -x - 2 \\ & \underline{5y = -x - 27} \end{aligned}$$

$$\textcircled{5} \quad y = \frac{1-x}{x^2} \quad \text{at } (3, \frac{1}{3})$$

$$\frac{dy}{dx} = \frac{V \frac{du}{dx} - U \frac{dv}{dx}}{U^2} = \frac{0 - 1}{x^2} = \frac{-1}{x^2}$$

$$m = \left. \frac{dy}{dx} \right|_{x=3} = \frac{-1}{x^2} = \frac{-1}{9}$$

$$\textcircled{1} \text{ Tangent: } \quad y - y_1 = m(x - x_1)$$

$$\left(y - \frac{1}{3} \right) = \frac{-1}{9}(x - 3)$$

$$9 \cdot \frac{3y - 1}{3} = \frac{-x + 3}{9} \cdot 9$$

$$3(3y - 1) = -x + 3$$

$$9y - 3 = -x + 3$$

$$\underline{9y = -x + 6}$$

④ Normal :- $y - y_1 = \frac{-1}{m} (x - x_1)$

$$\left(\frac{y-1}{3} \right) = 9(x-3)$$

$$\frac{3y-1}{3} = \cancel{9} 9(x-3)$$

$$3y-1 = 27(x-3)$$

$$3y-1 = 27x-81$$

$$\underline{3y = 27x - 80}$$